STAT 157 — Contingency Tables Worksheet

Two hundred Canadian students are going on an exchange trip. The students are either
from BC or Quebec and data about their mother tongue is summarized in the table below.

English French other Joi< |
BC 12 1 27 (GO
QC 8 79 13 100
tol<\ 0 g0 4G

Calculate the probability that if a student were randomly selected from this group,
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that the student is from BC;
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that the student’s mother tongue is English and they are from BC,;
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that the student’s mother tongue is English or they are from BC;
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that if the student’s mother tongue is English, that they are from BC;
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that if the student was from BC, that student’s mother tongue is English.

| s9L

70 %

Tan €

Are the events “student is from BC” and “student’s mother tongue is English”
independent? Explain your answer.
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